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MCQ answer scripts (Template)

1 Paper I
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2 Paper I answers
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3 Paper II
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4 Paper II mark scheme
Notes
1. Essential keywords sufficient for credit in some answers are underlined.
2. Acceptable alternatives for a given word or set of words are separated by slashes.
3. L99 A indicates that any credit for the item should be given only if A is correct.
4. Rounding off of 0.5 marks should only be done to the final total for Paper II.

1. (a) (i) Underline parts containing errors. [2]

The above total mark is decided as follows:

2 marks for 4 or 5 places distinctly underlined
1 mark for maximum 1, 2 or 3 places distinctly underlined

Note:
▼ Deduct 1 mark for one or more incorrect underlines.
▼ If everything is underlined, then 0 marks.
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(ii) Write relevant code lines to make A/L Student Section (line 4) a hyperlink
to A/L ICT (line 7). [1]

0.5 marks for each:

Line 4: <a href="#one"> A/L Student Section </a>
Line 7: <h4 id = "one"> A/L ICT </h4>
Or
Line 7: <a id="one"><h4> A/L ICT </h4></a>
Or
Line 7: <a name="one"><h4> A/L ICT </h4></a>
Note: HTML 5 does not support it.
h4 tag can be written as the outer tag as well. i.e.,
Line 7: <h4> <a id="one"> A/L ICT </a></h4>

Notes:
⋆ Instead of “one”, any other id (without spaces) can also be used on lines 4 and

7.
⋆ Quotes on lines 4 and 7 are essential.
⋆ Ignore space and case defects.

(b) (i) Write a suitable cascading style sheet. [1]

0.5 marks for each line:

.art {font-size: 14px; text-align: center;}
h1 {color: yellow;}

Notes:
▼ “art” must be in lower case as in question.
▼ If written within the <body> ... </body> or <head> ... </head>, then do

NOT give marks.
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(ii) Write relevant HTML code lines to include style sheet to a web page. [1]

<head>
<link rel="stylesheet" type="text/css" href="neat.css">
</head>

Notes:
⋆ “text/css” is optional.
▼ “stylesheet” has to be a single word.
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(c) (i) Fill the blanks in the code. [4]

0.5 marks allocated to each of the following:
A: 2 dl tags
B: 2 ul tags
C: 4 dd tags
D: 2 fieldset tags (▼ “fieldset” has to be a word.)
E: 2 select tags
F: 2 textarea tags (▼ “textarea” has to be a word.)
G: 2 checkbox tags (▼ “checkbox” has to be a word.)
H: 1 input tag

Notes:
⋆ Ignore case.
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(ii) Write the relevant HTML code line to show ”Team B” as the default selection. [1]

<option value="b" selected >Team B</option>
Notes:
⋆ Ignore case in all except for “b”.
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2. (a) Write down the suitable cloud computing service type. [3]

1 mark for each:

(i) Platform as a Service / PaaS / පʈතලය ෙස්වාවක් ෙලස
(ii) Infrastructure as a Service / IaaS / යටිතල පහʈකම් ෙස්වාවක් ෙලස
(iii) Software as a Service / SaaS / මෘදුකාංග ෙස්වාවක් ෙලස

Note:
⋆ Ignore case.

(b) Fill the blanks in the statements. [2]

0.5 marks for each:

(i) Encryption / ගුප්ත ෙක්තනය
(ii) Phishing / තතුබෑම
(iii) Software piracy / මෘදුකාංග ෙචʥරත්වය
Copyright / රචනා ෙචʥරත්වය

Note:
⋆ Ignore case.

(c) Write True, False or Cannot comment. [3]

1 mark for each:

(technical feasibility)අසතɕɐ / False
(operational feasibility)සතɕɐ / True
(organizational/institutional feasibility)පිʘතුර ැ දිය ෙනාහැකිɐ

Note:
⋆ Ignore case.
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(d) (i) E-Business selling foods: B2B, B2C or C2C? [1]

B2C / Business to Consumer / වɕාපාɜකයාෙගන් පාɜෙභʤගිකයාට / Business to Cus-
tomer

Note:
▼ Upper case needed for the abbreviated answer (i.e., B2C)
⋆ Ignore case for the other answer (i.e., Business to Consumer)

(ii) What is the electronic payment service commonly called? [1]

payment gateway / ෙගɫම් ද්වාරය

Note:
⋆ Ignore case.
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3. (a) Fill the four components in the flowchart. [4]

1 mark for each correct component.

Notes:
⋆ For “input”: any other word that conveys the meaning is acceptable. e.g., get, read
⋆ For “output”: any other word that conveys the meaning is acceptable. e.g., display,

print, show
⋆ For condition: “is base and height > 0?” is also acceptable and “is”, “?” are not

essential.
⋆ For variable names: b/B,h/H acceptable. Other meaningful names are also accept-

able. If any other single letter is used for a variable, then it has to be defined.
▼ For credit for the output component to be given, it has to indicate displaying what-

ever was computed in the computation block.
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Some translations:
start: ආරම්භය
input base, height: ආධාරකෙɏ දිග සහ උස ආදානය කරන්න
Is base>0 and height>0?: ආධාරකෙɏ දිග සහ උස > 0 ද?
yes: ඔɩ
no: නැත
stop: අවසානය
area=0.5*base*height: වəගඵලය = 0.5 * ආධාරකෙɏ දිග * උස
output area: වəගඵලය පතිදානය කරන්න

(b) Fill the four blanks in the factorial code. [4]

1 mark for each:

num
num == 0
factorial = factorial*i (correct indentation essential.)
factorial

Note:
⋆ “factorial *= i” is also acceptable for the third blank.
▼ Correct case essential.

(c) Write the output of the python program. [2]

The above total mark is decided as follows:

2 marks for the exact answer (with or without vertical alignment)
1 mark for either 2 3 or 2,3,5 or 2,3

Notes:
▼ Correct order important.
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4. (a) Write down one functional requirement w.r.t. appointment scheduling. [1]

Any answer having the following meaning:
ඕනෑම පැයක් සඳහා, ෙරʤගීන් 20 කට වඩා වැඩිෙයන් ඇතුළත් කිɝමට හැකි ෙනʣɪය ɒතුමය.

(b) Give one non-functional requirement w.r.t. the validity check. [1]

Any answer having the following meaning:
වලංගුභාවය පɝක්ෂා කිɝම ඉක්මනින් ʆදු ɪය ɒතුය.

(c) Write the suitable content numbers. [7]

P - 8 Q - 9 R - 1 S - 7 T - 4

U - 2 V - 3 W - 5 X - 6

The above total mark is decided as follows:

7 marks for all 9 labels correct
6 marks for maximum 8 labels correct
5 marks for maximum 7 labels correct
4 marks for maximum 5 or 6 labels correct
3 marks for maximum 4 labels correct
2 marks for maximum 3 labels correct
1 mark for maximum 1 or 2 labels correct
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(d) Give one difference between white box and black box testing. [1]

Any one from the following:

White box Black box
ෙක්තය පɝක්ෂකɐන්ට දəශනය/ දෘශɕමාන ෙɩ. ෙක්තය පɝක්ෂකයන්ෙගන් සැඟɫ ඇත/

ෙක්තය පɝක්ෂාවට ලක් ෙනʣෙɩ.
පහළ මට්ටෙම් පɝක්ෂණ කමෙɩදයකි. ඉහළ මට්ටෙම් පɝක්ෂණ කමෙɩදයකි.

ෙමමඟින් ෙක්තය සɪස්තරාත්මකව ෙමමඟින් ෙක්තය සɪස්තරාත්මකව පɝක්ෂා කර
පɝක්ෂා කර බැɤම ʆදු ෙɩ. බැɤම ʆදු ෙනʣෙɩ.

සාමානɕෙයන් පද්ධති සංවəධකɐන් සාමානɕෙයන් පද්ධති පɜɵලකɐන්/පɝක්ෂකɐන්
ɪʆන් ʆදු කරනු ලැෙබ් ɪʆන් ʆදු කරනු ලැෙබ්.

පද්ධති නිəමාණයට ෙයාදා ගත් ෙɢඛන පɝක්ෂා කිɝම සඳහා
පɝක්ෂණ සඳහා භාɪතා ෙɩ පිɜɪතර ෙɢඛනය අවශɕ ෙɩ

මෘදුකාංගෙɏ තəකනය සහ ෙක්තනය මෘදුකාංගෙɏ කියාකාɝත්වය
පɝක්ෂා ෙකෙරɐ පɝක්ෂා ෙකෙරɐ.

කමෙɢඛන දැනුම සහ කියාත්මක කිɝෙම් ෙක්තකරණය පිʘබඳ පූəව දැනුමක්
ɪස්තර අවශɕ ෙɩ අවශɕ ෙනʣෙɩ.

මාəග පɝක්ෂාව, පාලන වɖහ පɝක්ෂාව, මාɐම් අගය පɝක්ෂා,
ɦප පɝක්ෂාව, ෙකʣන්ෙද්ʆ පɝක්ෂාව සංසන්දනාත්මක පɝක්ෂණ

ආදි පɝක්ෂාවන් ʆදු ෙකෙə. ආදිය ʆදු ෙකෙə.
සාමානɕෙයන් පɝක්ෂණ ෙමවලම් සාමානɕෙයන් පɝක්ෂණ ෙමවලම්
කමෙɢඛන භාෂාව මත රඳා පවතී. කමෙɢඛන භාෂාව මත රඳා ෙනʣපවතී.

Note:
▼ No partial marks. Comparison must involve both types.
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5. (a) Show the complete truth table for the given circuit. [2]

The above total mark is decided as follows:

2 marks for all 8 rows correct
1.5 marks for maximum 5,6,7 rows correct
1 mark for maximum 3,4 rows correct
0.5 marks for maximum 1,2 rows correct

Note:
⋆ Having Output as the X column title is acceptable.
▼ If the X column is not labelled, or the label is different from X / Output, reduce 1

mark from the earned total.

(b) Complete the Karnaugh map according to the given format. [4]

0.5 marks for each correct cell:
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(c) Using the K map, derive a simplified SOP expression for X. [3]

X = AB + AC

Marks allocated as follows:
A: 2 marks for marking the two loops on the correct Karnaugh map (1 mark for

each)
B: 1 mark for correct, simplified final SOP expression as X = AB + AC (L99 A)

Note:
⋆ For component B, the term X is not compulsory.

(d) Using the K map, derive a simplified POS expression for X. [3]

X = A(B + C)

Marks allocated as follows:
A: 2 marks for marking the two loops on the correct Karnaugh map (1 mark for

each)
B: 1 mark for correct, simplified final POS expression as X = A(B + C) (L99 A)

Note:
⋆ For component B, the term X is not compulsory.
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(e) Out of the two expressions which one is better to implement
a more simplified logic circuit than the given logic circuit? Explain. [3]

SOP, X = AB + AC පකාශනයට වඩා POS, X = A(B + C) පකාශනය වඩා ʈදුʈ ෙɩ.

Explanation:

POS පකාශනය හරහා, අපට OR ද්වාර එකකින්, AND ද්වාර එකකින් සහ NOT ද්වාර එකකින්
සරල තාəකික පɜපථයක් කියාත්මක කළ හැක. (ෙදʣරටු තුනක් පමණි). SOP පකාශනය, AND
ද්වාර ෙදකක්, OR ද්වාර එකක් සහ NOT ද්වාර එකක් (ෙදʣරටු හතරක්) මඟින් නිəමාණය කළ
ɒතුය.

Marks allocated as follows:
A: 1 mark for correctly identifying that the POS is better than the SOP

(L99 correct SOP and POS expressions for 5(c) and 5(d))
B: 2 marks for correct explanation on why the POS is better than the SOP given as

follows: (L99 A)
1 mark: POS has fewer (3) literals and leads to a logic circuit with 3 gates
1 mark: SOP has more (4) literals and leads to a logic circuit with 4 gates

or alternatively:

B: 2 marks for correctly showing the two correct circuit diagrams and identifying
the better one or for indicating generally that POS results in a circuit that has
fewer gates when compared to the circuit resulting from SOP (L99 A)

Important: Note the dependency in marking component A. This basically means
not to give credit for part (d) if the student is not basing his/her argument using the
expressions X = AB + AC and X = A(B + C).
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6. (a) Explain how the odd parity check could be used to detect any error in the transmission
of 1010110. [2]

Marks allocated as follows:
A: 1 mark for සමතා බිටුව ෙලස 1 එකතු කිɝම
B: 1 mark for ෙදʤෂයක් ෙනʣෙɩ නම්, ගාහකයාට 1 ʏ බිටු ඔත්ෙත් ගණනක් ලැබීය ɒතුය

Note:
⋆ Ignore the position where the parity bit is added.

(b) Fill the empty entries in the IP address table. [6]

0.5 marks for each correct cell.

Important: Any or no answer to the three cells on the last row (Operations) is
considered acceptable.

(c) (i) Which network topology will you suggest for Mohan?
[1]

ring / මුදු ස්ඵලකය

or alternatively

mesh / බැඳි ස්ඵලකය

Note: mesh is acceptable as an answer. But may not be very beneficial due
to extra interconnections needed, performance degradation and inadequate user
requirement to go for a mesh.
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(ii) Draw the logical arrangement of the network. [2]

Ring:

[if the student has chosen a mesh:]

1 mark for each:
A: 10 computers properly connected to Router /

10 computers properly connected to Router along with a firewall and/or proxy
(L99 topology chosen is either ring or mesh)
B: Router connected to Internet connection

Notes:
⋆ The following symbols are also accepted for this part and for part (v):

⋆ Instead of “ISP”, “Internet” is also acceptable.
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(iii) Technical suggestion to improve connection speeds for clients. [1]

Add a Proxy Server / නිෙයʤජන ෙසʢවාදායකයක් එකතු කිɝම

(iv) Mechanism to protect the network by filtering the communication traffic [1]

Have a firewall / ගිනි පɬරක් ස්ථාපිත කිɝම
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(v) Include the solutions for (iii) and (iv) in the logical network arrangement. [2]

Ring:

[if the student has chosen a mesh:]

1 mark for each:
A: properly adding and labelling proxy (L99 topology chosen is either ring or
mesh)
B: properly adding and labelling firewall
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7. (a) (i) What is the ecommerce business type applicable in this scenario? [1]

B2C / Business to Consumer / Business to Customer /
වɕාපාɜකයාෙගන් පාɜෙභʤගිකයාට

(ii) What is the revenue model used in this E-Commerce site? [1]

online sales / මාəගගත ɪකුණුම්

(iii) Do you recommend the same revenue model of (ii) for offering digital learning
material? Justify. [1]

ඔɩ නම්, ඩිජිටɢඅන්තəගතය සඳහා ආදායම් ආකෘතියක් ෙලස මාəගගත ɪකුණුම්වල හැකියාව
සාධාරණීකරණය කිɝම

එෙසʢ ෙනʣෙɩ නම්, ඩිජිටɢ අන්තəගතයක් සඳහා මාəගගත ɪකුණුම් සමඟ ඇති අභිෙයʤග
සාධාරණීකරණය කළ ɒතුය. (එෙසʢ නම්, ආදායම් ආකෘතියක් ෙලස දායකත්ව ආකෘතිය [sub-
scription model] භාɪතා කරන්න.).

(iv) Suggest a strategy to increase the business revenue with the help of the proposed
streaming channel. [1]

ෙවළඳ දැන්ɫම් පචාරණය ආදායම් ආකෘතියක් ෙලස ෙහʤ ʈදුʈ පිʘතුරක්

(v) Write down a key challenge the bookshop has to face when implementing the
digital content channel. [1]

Answer could be in the following themes with an explanation why it is important:
• පිɜවැය-ඵලදාɑතාවය: ෙස්වාව ෙනʣමිෙɢ ලබාෙදන නිසා
• අන්තəගතෙɏ ගුණාත්මකභාවය: පටිගත කිɝම / සකස් කිɝම සහ සංස්කරණය කිɝම පමිතියකින්

කළ ɒතුය; නරඹන්නන්ෙග් කලාප පළල පɜෙභʤජනය අඩු කිɝම
• පකාශන ʏමිකම් ගැටʚ: අන්තəගතය තුළ IP/ පකාශන ʏමිකම් දවɕ අනිʆ ෙලස භාɪතා

කිɝෙමන් වැළකිය ɒතුය.
• තාක්ෂණික ෙයʤගɕතාවය: බාධාවකින් ෙතʣරව ලබා ගත හැකි ෙසʢවාවන් සැපɐය ɒතුය.

ෙබʣෙහʤ උපාංග/ෙවබ් අතිɜක්ʈ සමඟ ගැළපුම (අනුකූලතාව), ෙසʢවා කාəයක්ෂමතාව, ආරක්ෂාව,
ආදිය
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(vi) Name a suitable expansion solution to incorporate both related and unrelated
products or services. [1]

ɪදɖත් වාණිජɕය ෙවළඳ ෙපʣළ/ ඉ-ෙවළඳ ෙපʣළ / ɪදɖත් ෙවළඳ ෙපʣළ/ මාəගගත ෙවළඳෙපʣළ

(b) (i) Draw a simplified agent diagram and name important entities and interactions. [6]

භූතාəථ:
පɜɵලයා/ගැනුම්කර ැ
Chat-bot ඒජන්ත/Chat-bot
ෙසɬම් ඒජන්ත
වසම් ඒජන්ත
උප ඒජන්ත

Some translations:
results: පතිඵල
user interaction: පɜɵලක අන්තəකියා
search parameters: ෙසɬම් පරාමිතීන් / පɜɵලක අවශɕතා
search parameters + domain: ෙසɬම් පරාමිතීන්/පɜɵලක අවශɕතා+ෙසɫෙම් නිරත ɪය

ɒතු වසම්
search parameters + sub-domain: ෙසɬම් පරාමිතීන්/පɜɵලක අවශɕතා+ෙසɫෙම් නිරත

ɪය ɒතු උපවසම්
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Marks allocated as follows:
A: 1 mark for User to ChatBot Agent interaction (two-way arrow)
B: 1 mark for ChatBot Agent to Search agent interaction (two-way arrow)
C: 1 mark for Search Agent to Domain Agent interactions (two-way arrows)
D: 1 mark for Domain Agent to Sub-agent interaction (two-way arrows)
E: 1 mark for indicating multiple domain agents and multiple sub-agents
F: 1 mark for describing all interactions correctly

Note:
⋆ If a student has included a user interface, ignore that additional information and mark

as given in the scheme.
⋆ Describing all interactions along only one complete path from beginning to end is

sufficient for F component above.

(ii) Write one major advantage of this multi-agent system. [1]

Any one from the following:
• ගැණුම්කɞට පහʈව: ගැනුම්කර ැ ɪʆන්ම ඇගɑම කළ ɒතු නැත
• පතිඵල ලබා ගැනීෙම් ෙɩගය වැඩි ɫම
• ගැනුම්කɞට දීəඝ ɪස්තරයක් යතුර ැ ɣයනය කිɝමට අවශɕ නැත. Chat-bot ෙරʣෙබʤ

ඒජන්තවරෙයකු ඔʑෙග් අවශɕයතාවට උපකාɝ ෙɩ
• ෙභʥතිකව සාප්පු යාමට අවශɕ ෙනʣවන නිසා ගැනුම්කර ැෙග් පිɜවැය ඵලදාɐතාව

(iii) Write one ICT related challenge when developing a sub-agent. [2]

Any one from the following:
• ɪɪධ ෙවබ් අඩɪ වල ෙතʣරතුර ැ ෙවනස් ආකෘතින්ෙගන් පැවතිය හැකිය.
• අඩɪ වɣන් ෙතʣරතුර ැ උපුටා ගැනීම සඳහා භාෂා සැකʇම අවශɕ ɪය හැකිය.
• ɪɪධ ෙවබ් අඩɪ වල ෙතʣරතුර ැ ෙවනස් භාෂා වɣන් පැවතිය හැකිය.
• පතිඵල ලබා දීමට උප නිෙයʤජිතයන් වැඩි කාලයක් ගත ෙනʣකළ ɒතුය.
• උප නිෙයʤජිතයන් ෙදෙදෙනකු එකම ෙවබ් අඩɪයට වක මාəග හරහා ෙනʣපිɪʆය ɒතුය.
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8. (a) Construct a flow-chart or pseudo-code to output the average age of students in L
whose age is < k years. [5]

Marks allocated for either flowchart or pseudo-code as follows:
A: 1 mark for getting inputs correctly
B: 1 mark for correct < n looping
C: 1 mark for correct computation (L99 B)
D: 1 mark for correct output action (L99 C)
E: 1 mark for completeness (L99 D)

flowchart: important arrows and correct symbols for start, stop, input/output,
processes, conditions
pseudo-code: Begin-End, indentation

Note:
⋆ Acceptable synonyms: (Start, Begin), (Stop,End,Finish),

(Input,Get,Read), (Output,Print,Show,Display) [ignore case]
⋆ n could also be a user input.
⋆ Loop index can go from 1 to n as well.
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Some translations:
Start: ආරම්භය
Stop: අවසානය
Input: ආදානය/කියɫම/ලබා ගැනීම
Output: පතිදානය/ මුදණය/සංදəශනය
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(b) (i) What would be the output if L1 = 2,4,7,9,3,5 and L2 = 1,3,8,9,6,5,7? [2]

4 / පතිදානය = 4/ පතිදානය 4 ෙලස දැක්ɫමට සමාන ඕනෑම ෙදයක්

(ii) What is the purpose of this algorithm? [2]

L1 හා L2 ලැɐස්තු ෙදෙකʏම පවතින අවයව ගණන පතිදානය Marks allocated as follows:

1 mark for the number (count) of elements that are in
both lists L1 and L2

1 mark for displaying the result

(iii) Develop a python program to implement the algorithm expressed by the flowchart. [6]

Allocate marks as follows:
A: 1 mark for getting inputs correctly
B: 1 mark for correct outer loop
C: 1 mark for correct inner loop (L99 B)
D: 1 mark for correct if construct (L99 C)
E: 1 mark for correct output printing (L99 D)
F: 1 mark for correct indentation (L99 E)
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9. (a) (i) Draw an ER diagram for the given description. [7]

Marks allocated as follows:
A: 3 marks for the strong entities (Supplier, Customer, Order with correct

attributes and primary keys marked (L99 correct entity and attribute symbols)
Note: 1 mark for each entity

B: 3 marks for the relationships (confirms, Supplies [Order and customer], Sup-
plies [Supplier and customer]) with correct cardinality
Note: 1 mark for each relationship

C: 1 mark for ContactNo (multi-valued attribute)
Notes:
⋆ Ignore case of letters.
⋆ Do NOT deduct marks if the student has drawn additional details which are

shown within dotted enclosures.
▼ Deduct a maximum 1 mark from the total earned mark if any other additional

parts are drawn.
▼ If there is any spelling mistake (one or two letters) deduct one mark from the

earned total. Naming entities in plural forms (e.g., suppliers) is also considered
as spelling mistakes.
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(ii) Add the agent to the ER diagram. [4]

Marks allocated as follows:
A: 1 mark for [agent] being a weak entity
B: 1 mark for attributes of agent
C: 1 mark for weak relationship (total participation not necessary)
D: 1 mark for correct cardinality

(b) (i) Write an SQL statement to change the mobile number of EP003 agent to 0772222222.
[1]

UPDATE Contracts SET AMobile = '0772222222' WHERE
ACode = 'EP003';

Notes:
▼ Exact case is required for those that are underlined. Ignore case for the rest.
⋆ Ignore quotes in ’0772222222’.
⋆ Ignore semicolon.

(ii) In which normal form does the Contracts table exist? [1]

ෙදවන පමතකරණය / 2NF / second normal form

(iii) Convert the Contracts table to the next normal form.
(It is not required to write the data in the derived relations.) [2]

1 mark for each:
A: Contracts(CNo, ACode, Client)
B: Agent(ACode, AName, AMobile)

Notes:
⋆ Ignore case.
⋆ Other meaningful names for “Contracts” and “Agent” relations also acceptable.
▼ The primary keys should be marked as shown.
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10. (a) (i) Explain one way in which bar code technology can be beneficial to a library
management system. [2]

Marks allocated as follows:
A: 1 mark for සෑම ෙපʣතකටම තීර ැ ෙක්තයක් සම්බන්ධ කිɝම සඳහා
B: 1 mark for පතිලාභය/ වාʆ පැහැදිɣ කිɝම සඳහා

(ii) Explain one way in which multiple processors in computers can be beneficial. [2]

Any one from the following:
• පɜɵලකයා කියාවɣ කිʏපයක් අරඹා ඇති ɪට, ඒවා ʆයɢල ɪɪධ සකසන මත එකවර

ධාවනය කර ඉක්මනින් අවසන් කිɝමට හැකි ɫම
• සමාන්තර පɜගණනය සඳහා භාɪතා කළ හැක; සංකීəණ කාəයයන් ෙකʣටස් වලට ෙබදිය

හැකි අතර එම ෙකʣටස් ɪɪධ සකසන මත කියාත්මක ɫමට වැඩසටහන්ගත කර ʆයɢල
ඉක්මනින් අවසන් කර ගත හැක.

The above total mark is to be decided as follows:
Give the full 2 marks if the answer is complete. Else, give 1 mark.

(iii) Explain what is meant by volatile memory and select an example from the list. [2]

Marks allocated as follows:
A: 1 mark for නශɕ මතකය පැහැදිɣ කිɝම සඳහා: ɪදුɣය ඇති ɪට පමණක් පɜගණක

අාචනෙɏ ඇති දත්ත ɚඳෙɩ.
B: 1 mark for any one from (ගතික සසම්භාɫ පෙɩශ මතකය (DRAM), L1 නිʏත

මතකය, ෙරජිස්තර)

(b) (i) How all applications “execute simultaneously” on a single processor computer? [3]

Marks allocated as follows:
A: 2 marks - බʑ කමෙɢඛනය / කාලය ෙබදාගැනීෙම් සංකɢපය පැහැදිɣ කිɝම
B: 1 mark - කියායන අතර මාර ැɫම ෙɩගෙයන් ʆදු ෙɩ

(ii) How can the programs whose sizes are larger than physical memory could
be run on a computer? [4]

The marks allocated as follows:
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A: 1 mark for සම්පූəණ වැඩසටහන ෙභʥතික මතකයට එකවර ෙගන එන්ෙන් නැත.
B: 1 mark for වැඩසටහන අතථɕ මතකෙɏ / දෘඪ තැටිෙɏ ගබඩා කර ඇත.
C: 1 mark for වැඩසටහන ``පිටු'' වලට ෙබදා ඇත.
D: 1 mark for අවශɕතාවය අනුව පිටු ෙභʥතික මතකයට ෙගෙන්. (L99 C)

(iii) Why each file needs slightly more space in linked allocation? [2]

Marks allocated as follows:
A: 1 mark for සෑම අාචයන ඒකකයක් තුළම ඊළඟ අාචයන එ්කකය ෙකාෙහ් ඇතිදැɐ

දැක්ෙɩ.
B: 1 mark for ඒ සඳහා අමතර ඉඩක් වැයෙɩ. (L99 A)
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